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QUESTION L

The probabilily fhatindicales the subject will be rated as veryedsy, PCA) =098,
cyvy, PCB) '-'-0'11) qverage pcc) =0:3¢, J|ff|0\4“’, (D) =d-)7 or \/0(1
difficult, PCE)= 012"

Very edsy = pCA)=0"08
Eas) = peB)* 0-29
AVErage = pec) s o) ¢
ovfficult = PCO) =017
Very Pifficylt = PCE) 012

Find the probabiliTies That The oubjecto will be rated basedonThe following
categories

a) Averaje,eqoy or very eq9y ) Oiff‘.o-{\T op 48(1 eqsy

PCc upg VA) =pCc)+PCB)FTPCA) PCOYA) = PLP) TPCLA)
5.0°94 4 PR + 998 = 0 FIR 1008
=0 i) )

or
b) Average, difficult or very Jifficylt - B EnA e

pee Y bV E) :Pcc) +pPcD) TPCE) = e 0200

=034+ 017 F 02 =630

"

063
) Neither very difficult nor very easy

pCb v A) = PLR) T FCA)
017 +0°08
= oS

NerTher \lt‘/f‘, Jlfﬂ(»ﬂfncrvefj
8({77 ~
plouA Y 2 = POV A)

=] -0-25
= 075




Q :
St

PCR) = 060
Py = 030
P(ayp):=0-%D

&) Pn nw) : P PB)
060 (0-30)

= 0-1%

b)

c) pea’ng) - P’y PLB)
- 049 (0-30)
2 0.1

d) ?(H/nﬁ') -

= -2¥
e) P(nyp’) = P(A'DHP

040 to30 -0 7

1002

) Peanw’) = n(m) - P(R7)
=060 (0-70)

b ().lf)

t(n').r(a’)
: 040 (0-70)

pcA’) = |- PCcA)
-] ~060
1040
pe’) = - P87
. | = 0 30
~ 0-30

CB’)"P(ﬂ’{]BI)



QJESTION 3

Nr\hgc vervices providey various packages for their cusTomers booking duri
holida : . N oKing Jurin
oliday veason - There are 207+ ) 457+ 4ad 35 % vfthe (,qs’tomersk?c»okei

fore :
(Package A& 9nd G respectivoly. oiven The probabiliTy expefienced

with bad services are qg follow :

package A7 07002
Package 8 * © 00 |

package C: 0-003

Based onthe gbove vitu ation, anower the f°ll°win9 cwes'nOns'

u)consT‘N.oT a Tree c)i?grqm based onthe situation given and determine Their
q990ciated probabilities ,‘mclqdin9 1he inTer section Pfobabi)}‘ﬁeb together

N.Iﬂ"‘n'\e OqT comes:

& a

5002
LB A B

Airline y y“ﬁ -
Packdge & 8 “000)

\ C ) 9 G

\QQBB
LeT @ = Good vervice, BF Bad vervice

b) 8 as ed on the answer
In CQ),JeTermine The
Pfobqbi|i+7 thatl g
cy9tomer expefience
with a «)coJ sefvice fom

the airlines-

package A -

pCAN Q) T PCAY *PCO)
o-a0 » ©998
= o1 e

a %) B

25:i?;3 sp(e) x PLAD
=095» 999
204996

package ¢

peemty): = 2 yE& w9l
zo%3799%0

= 0:9982

Package M-

Bad service =0 002

Good 9eVjce = )~0°002
*0:998

Package B -

Bqd service= O -00 |

coed service = {—0 o0l
= 107 )

Package C -

Bdd sefVice = © 003

4 ood vervice = -0 003
:o~q0"]

I
Q) given thal

the package isopel ating 9modsthl 7,
what 15the p(obqb\h‘m +hat ‘tioin
Package 87

peBVGH) = PLBNG)
PCGO)
= pCB) xPC&)
PC@)
= 0 4r9x0-‘lc9cl
0 -99 82

2 i0 1‘50?



Question t

banaho sold =10 b

Kumg Sold - 36°% (0-3) 20 WStoMe v -

Q) Binomi 4 P\andom Jariabl€
~Independent nals

2 vt wambee B ek 08 e er purchaged -

b) plx:8) - 5(9,’101313
o pseN EAFR v
el ()
+ 3.8693x (07

C) P(?<ﬂ<|o):P()(:}).}P(X-‘?)1P(X:Q)+HX:/0)

) T ()6 6]

= (1-6(7g Xl0”°) t (3.5693 X 107%) + (0-6/20) 1

2 0-0477F

dl . Flagnsc) * 1(x=3)t ?(x:tf)fp(x:s‘)
Slarag Ay b LY

(0%) %3 ne - of daivy poduck purthased among

B - o
2 b(?;lﬁ,%)‘f b(%/w'ﬁ,) fb(q/)"r%)fb({o/wfﬁ)

2 L();N%)l(%)nj +[Cro) (i:j)?(%)u] i3

(o.oso$>)

P Q‘}’o) P bilE 2% %;)

e e T () B i

. b.6%16 t 0304 +0-1389
= 0-3809



QuesTion S '
A= hident pilot pass the test 8= studeab pilot. fail  The, tesk

PCAY= 0.7

Rigy e j=i0um
pce) = 0.8

Let X be the number of fvial to pass the Tesk ‘al  dintrivuton
with  ks=\ , p= 0.7

4) on pass on the Hhird 4y

x=3 kel ,pao0.1, 4203
b 3 Rl ™
LSS DEEE oy IR

(1) e o™

n

(%) 0.1 (0.3)"

P(X =3)

0.063%

The probability  the ﬁudt,.nl‘ pass oh  thxd 4y & 0.003.

) Before  the fourth 4y ;
1=4, k=), peo.7 q=0.3
P( x<4)

i

RL 4 e )

n

3
Z b(x;1,0.7)

Uzt

‘ o . -l -1 i -l
(:::) (0-1) (0.3) + (Q;-In) (01 (0:3)" & ( gt-')(""’) (03)’

1

(g)(o"!)(l) + (;) (0-7)(0.3) + (’5) (01 (0.3)"

=0.7 4+ 0.21 + 0.06%
s 05973
; ?ml,qb;'l?hj °of  Student passing

before fourty try is 0.913,




. At the REth  ofter Seventh 4y

A=l keSS, ¢=0.7

9,203 Provability  Stwdent will pass within

G fo Ttho try

. 3 =t w-K
Px =4 = (L1 p*

! & 25,1 ks pz0-1 , 3203
—l ,g
i (1‘;—:)(0'731(0'3)1 |
PCS sx<1)
1
= (4) 01 03 I " |
= = b(#;1,07)
l A=
P(X:']): 0.211 | o ‘ “ &
o ,_,)<0-T) (0.3) 4

“ The probdba'ﬁhj a Student will

Pass  qt fifth  apRr  Seventh

tadls  ic 0.1291.
#

12) e 03

-
- em > -

" < | .76 1 (4
= (3) 0-0'03)" 4+ (5) @D ©3) 1(s) 0103
= B8 4 LT0IXw > 4 T.103 107
= 0.00788!
. fbaviihy Sudeat Wil pass
within Sty 1o 7+ S 0.007 821 ) '
Note : .

since  fhe question  can pe nterpret in 2 way3,
if we assume o« Student will yass at fifth
of frying for Seventh tme
the prolbability s 0.221,

b) Mean and Variance

r= 5 . g0 1 al,:o.";
Mean, 4 « E(x) yasiane, €5 Vo)
= T =
- -537’ =‘Ls)co-?
o-1)
4y = 7 43



QYESTION ©

At QT sugar Faclory the amounfs which 9o into bq? afadgar are WPPObed
1obe notmally diotiibyted with mean 3¢ k9 and stan dard deviation 0Tky-
ance every 30 mingles a bag 15 selected from he production ine and 1
R | procisely 1f The amounT of the bag goes below 358
k 9 or aboVe 3p-akg, Then The bag will be declared o f of control”

3) WM =36k9, s =01K9 P(X<558)fp()(>36))

22Xy o= By BRI B0l sia) Hpess 2)

o |

] L - b G2 FLI=0:91]2)
2% 35 8-3¢ P S0 0456

3.2 Geres
Oied)

S gl

f=2< 2 <20

P‘-’O 01’5(1

b) An=l6) i
- (](:)00?5(30(‘]—0 O‘TSE)

pPCXx=9)

64121

c) h=16, on Cae

5
PO | 015¢' (1-0°095¢)’
<0 5@2}
§ g Pl ek 2}

4 Be e
s 0=37) - (26:27)

6%



GUES TION 7T

Mean (4) = 28 stundard  Deviahdn (6) = §

4) Pwporion ©of the duwalion jetween 29 and 40 days old

Wl N |
2= 2
3 _ 40-21
20 -2¢
Z a &
4
z =15
z =~

PC20 <n<40) = Pc~1.0 ¢z<!.5)

= P(z <I.5) = P(z<c~1.0)

T 0.93319 - 0.i15866
PC(20 << q0) . 0.77463
b) Propation  of the dwnbon  jess than 30 days old .
Z = x;l{ PCx<30.0) = PCz<¢0.25)
o 2o=2d = 0.5987]
g
2 = 0.7—;

€) fumber of Days in which 5% of all claims
Since,

are  above .
PCX<a) = 0.75

Then

/

Pz e 2y 20.05 ;L= 047

20 = -4

= 25'1'-/‘/
= (0-67}(8) T+ iF
A = 33, .3



